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v(t) = 100sin(1000t + 60)
50mH 7 i(t) = 5sin(1000t)
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v(t) = 100sin(500¢t)
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i(H)=2sin(500t) , wv(t) =90sin(500t—90)
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i(t) = 55in(2500t + 90)
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i(t) = 5V2sin(2500t + 37)
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sin37 =¢c0s53 =0.6,sin53 =cos37=0.8
sin90 = cos 0 = 1,sin 30 = cos 60 = 0.5,sin45 = cos 45 = 0.7
sin 60 = cos 30 = 0.83
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0 pod a:wﬁ"s\.o&bl) 220,
) v-—30 v—10 \

kcl) - =0 (0/5) »2v—44=0, v=22(0/25),
22-10
Iy = = 6A (0/25)
' Ry, =2+6=80Q (0/25), ——%— Y
L "
v—12 80
kcl) > =3 = vy = 18v (0/75) A
18V
B
o/ 16 | 1 Yy

.vc=—§-x4=8v,wc=ix 10 X 64 = 320pj (0/5)

Vo | p. = 10 + 20 = 30w (0/25) ,pq = 20 — 60 = —40 var (0/25) g | g
,Ps = +/30% + (—40)? = 50 VA (0/5) |

30 o
cosp =5 = 0.6 (0/5)

Y 100 100 o
Z=—=200(0/5),L=—-+50= 100mH(0/25)

X, = 100 X 1073 x 1000 = 1002 (0/25)

@ =60°,
R—Z—2 =40 (0/5 _R_2 640y
“cosq@ 0.5 (0/5) Q—XL_100— -4 (0/5)
" x L ! 109, (0/25) | !
CTCW 200 x500 x10°

7 =4102+102 =102 Q, (0/5)

cos¢=§—=—£.—

Z 10V2

. (£) =10 x5v2xsin (500 —45), (0/25)
. (£) =10 x5+25in (500 +45) (0/25)

— p=—45 (0/5)=>i (t)=5v2sin (5007 +45), (0/25)
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Y - 90
X, =LW =10x107x500=5Q (0/25),Z =—~=

¢ =-90-0=-90<0, (0/25) -

1
C =——=40uF (0/5
500x50 # (0715)

Z=X.-X,=>45=X.-5>X,=50Q, (0/5)

-3,

Y

45, (0/5)

| P
Vel z =1x—3=2(x2(0/25),v (+) =20x5sin(25001 ), (0/25) 1]:

i) =-1%0 sin (25007 +90) (0/25) . T

i, (t) =1(5)—0 sin (25007 —90) (0/25)

Y 1z =JR*+(X,-X.) =9+16 =5Q, (0/25)
COS ¢ =0.6= ¢ =53,(0/25)

V (1) =5%5v2sin (2500 +37+53) (0/5)
=25+/25in (2500 +90),

P, =RI>=3x25=T5w, (0/25)

p, =(x,-x,)1,>=4x25=100var (0/25) %

(0/25)

/

Pd

Ps

p, =ZI*=5x25=125VA (0/25)

Pe

1 1
F’ = =

2rJLC 2x%3/14+/20x107> x50x10°°
Q0 =RC x2xwxF, =200x50x107°%x2x3/14x160=10,

pw =E 190 _y6 (0/5)
Q 0

=160 Q,

F, =160-8 =152, (0/25)
F, =160+8 =168 (0/25)
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2 g0 s gl -3,
! VAB 12 12 "
[, =—=—==5=3  (0/25),1, =—=4, (0/25)
R 3
I, =1, =V3+4 =54 (0/5)
Y \Y
Vo =—‘{L—=ﬁ)=220 0/25) ,1, =1, =z2—0=20A, 0/5)
NN EY
g=¢,=¢, =53, (0/25)
| P, = 3vp1P sin @ =3x220%x20x0.8 =10560 (0/5)
VAN
~ IP\
53
eee
63
T
, PY 0/5)
Vol Z =900+1600=50LQ, (0/25) Y
V,=V, =380, (0/25) _
380 -\/_ -
p =—5-—0—=7/6.IL =~3x1,=12/9=13, (0/5)
peA » 60
P,=—5=—=20 0/5
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